QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

freafafaa wy d R ow Rwedt # & uy fg
(?) & T W HA A HEA F RAT

1 2 4
6 7 2
3| 4 5
19130 | 7

Options:

1) 12

2) 14

3) 16

4) 20

Correct Answer: 14
Candidate Answer: 14

QID:2-
How many rectangles are there in the given figure?

A T pla F o am ¥

Options:
1)5

2)6
3)7

4)8
Correct Answer: 6
Candidate Answer: 6




QID: 3-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 fo 4 and
that of Matrix-ll are numbered from 5 to 9, A letler from these malrices can
be represented firsl by its row and next by its column, for example, ‘Y’ can
be represented by 21, 87, etc_, and ‘L’ can be represented by 32, 78, etc.
Similarly, you have to identify the set for the word “TOWEL”.

T MG dad UF HEAT-EHE R0 geir R € o f5 faweut &
Rl o & T M &) foeeul & U I0 dE-meE vt & ogr adif
GRT G W ¥ Sien T Ry o o ege # &) 3nege & waew AR
Ofeh T TEAT 0 ¥ 4 § 3R AR H 5 T 91 3T YR § TH MR
P ougel TN O HT aig # TAEN Tl SR el S awdr
3G & oW Y’ 21, 87, A ERT AT ST F@eRar § dAT L 32,
78, Hifg &0 T o Wl ¥ s diw @ sue uw & U g
“TOWEL” & ToIT Hafg = ugdeel &l

Matrix-| Matrix-Il

Jgg-l Mgl
01234 516|789
0|CIE|G|I|K 5|K|M|F|H|Z
1{MO|JQ|S|U 6|1 |B|O|J|K
2IW|Y|A|D|B 7|IG|Q|A|L|V
J|H|{J|L|N[P SIE[H|Y[N|T
4RI T|V | X|Z 9|IClU|IW[IPIR

Options:
1) 41, 67, 20, 03, 78

2)89,67,98,01, 33
3) 89, 11, 20, 85, 32

4) 41, 11, 97, 03, 32
Correct Answer: 89, 11, 20, 85, 32
Candidate Answer: 41, 11, 97, 03, 32

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R Teiadl ¥ 3W SR aTeE @ gan
e & uar ampfa @Afea B

Q_




Options:
1)

|

2)

falh)
L

3)

4)

Correct Answer:

D

i

Candidate Answer:

(

QID:5-
Which answer figure will complete the pattern in the
question figure?

wid W AT AP U HHid & UiawT @ g
T2
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Candidate Answer:

ﬁ

QID: 6 -
If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afe T 9UT @ AB T UT T@T AW, ar & a8
I AGaAt A @ wia @ anela Wy omea
Y uiafea gefre

x|




Options:
1)

N
—

)
-

Y
=

Al K] K| X

Correct Answer:

4

Candidate Answer:

4

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@D & Uy wwiaal d fGEm dgER wee @
HAlsRT e TUT Wi & d91g 95 hE Sa HTES
S femrs game

/)8 e

—
[RGB o)



Options:
1)

N

)

Y

= - —
=]

Correct Answer:

Candidate Answer:

QID: 8 - If ' means '+', '+' means '-', 'x' means '+' and '+' means X', then
126 x3+10-6=7?
i = B opef '+, 4 B 3 =, ) BT o et quT = FT 3rf X L AT

126 x3+10-6=7?
Options:

1) 420

2) 356

3) 326

4) 426

Correct Answer: 426
Candidate Answer: 426

QID:9-If 15 + 29 + 15 = 291515 and 16 + 28 + 31 = 281631, then 19+ 35+9=7?

¢ 15 + 29 + 15 = 291515 AU 16 + 28 + 31 = 281631 5, W19+ 35+ 9 =2
Options:

1) 35911

2) 35199

3) 35991

4) 31995

Correct Answer: 35199

Candidate Answer: 35199




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Wept
2. Wings
3. Winger
4, Waller
5. Wesley

iR Is3i &1 AsHI H S a1 HH P IR e |

1. Wept
2. Wings
3. Winger
4. Waller
5. Wesley

Options:
1) 45123

2) 45231
3) 41532

4) 41523
Correct Answer: 41532
Candidate Answer: 41532

QID : 11 - In the following question,select the missing number from the given alternatives.
46, 56, 2, 79, 92, 106
ot wy 7 fou T et # 9 g« sie 1d Sl

46, 56, 2, 79, 92, 106
Options:

1) 68

2) 67

3)69

4) 66

Correct Answer: 67
Candidate Answer: 67

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
SAP, UCN, WEL, YGJ, ?
TP 3 foan mar 8, o ¥ U ue g 81 T U fawedt & ¥ 97 I8t fase g, S ogwmy 3 g

SAP, UCN, WEL, YG], ?
Options:

1) AIH

2) BJH

3) AK

4) BIK

Correct Answer: AIH
Candidate Answer: AIH

QID : 13 - In the following question, select the odd word from the given alternatives.

e vy § fow T fgsel & 9 favd wse &1 gfu)
Options:
1_) Orange

0

orrect Answer: Potato

Candidate Answer: Potato




QID : 14 - In the following question, select the odd number pair from the given alternatives.

Frafefad ge o faw e fdeedl O @ faww d@n g &1 ghuy
Options:
1) 36 - 80
2)12-30
3) 24-60

4)28-70
Correct Answer: 36 — 80
Candidate Answer: 36 — 80

QID : 15 - In the following question, select the odd letter pair from the given alternatives.
Fafarted oy # 4T T e § ¥ favm sier g™ &1 gl

Options:

1) LMNO - LMON

2) PQRS — QPSR

3) EFGH - FEHG

4) TUVW - UTWV

Correct Answer: LMNO - LMON

Candidate Answer: LMNO — LMON

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Red, Car, Bike

I8 3@ AT o 12 faw U il & g & e o1 T FReaur Hier

T, PR, 95D
Options:
1)

Correct Answer:

c

Candidate Answer:




QID : 17 - In the following question, select the related word from the given alternatives.
Pen : Write : : Knife: ?

FrafoRed vy § fou T fdeed ¥ 9 el wsg &1 gul
oq: g r g i 2

Options:

1) Cut

DIl

2) Sword

3) Sharp

4) Fruit

A

Correct Answer: Cut
PIcT

Candidate Answer: Cut
PleAl

QID : 18 - In the following question, select the related number from the given alternatives.
23:25::36:?

FafaRed vy § fou 7 e o @ Yeila dem &1 ghuy

23:25::36:7?

Options:

1) 49

2)81

3) 64

4) 100
Correct Answer: 81
Candidate Answer: 100

QID : 19 - In the following question, select the related letters from the given alternatives.
MAX: NYA::BOT:?

FraieRed uy o fou 7Y fawedi & 9 HEidd sieri o g

MAX: NYA::BOT:?

Options:

1) ANV

2) CMW

3) CNW

4) AMW
Correct Answer: CMW
Candidate Answer: CMW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
DISAMBIGUATION

Fefied i # 3 98 Wsa gAY S U T Wea & $1aRl BT WM SRS g1 a1 o Tl
DISAMBIGUATION

Options:

1) RATION

2) BAIN

3) GAIN

4) SAND
Correct Answer: RATION




Candidate Answer: RATION

QID : 21 - B and Q are brother. Q is son of L. L is brother of J. J is son of N. How is B related to N?

BANMQHUERIQ LBTYIEGIL, JBTHE 1], NBI YA R B, N ¥ 5 IR Taifdra 2

Options:
1) Son

A
2) Brother
3) Grandson

4) Father
Toar
Correct Answer: Grandson

Candidate Answer: Grandson

QID : 22 - There are 39 pens in a row. Red pen is 9th from left end and green pen is 21st from left end. How many pens are there between red and green pen?

TS Ufed § 39 ad § | O Had I B8R J 9 8 § aur g8 Fow arff IR 9 21 & §1 oa 9U1 &5 paw & 7 fha wod 82
Options:
1) 11

2)12
3) 10

4) 13
Correct Answer: 11
Candidate Answer: 11

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
L. All pen are chairs.
I1. All chairs are tables.

Conclusions:
I. Some chairs are pen.
II. Some chairs are tables.

T &g 7T v H H© B AR I 916 37 DY W SMURG $v ey 3 1Y &, greiifs 377 G a aeil I fireran g1 el 81 9+ e ug ok ftbr Muffa
5 U U B § ey, 3T U HEt % R W gfaaad ¥

m?ﬁ .
L9 DR &
IL gt HRIaT O B

frep: \

1. 73 RIGl dad Tl

IL $© SRl 8w

Options:

1) Only conclusion (I) follows.

Faa Y (1) 9L B

2) Only conclusion (II) follows.

Faa ey (11) 9t 31

3) Both conclusion follow.

3 & ey wet §1

4) Neither conclusion (I) nor conclusion (II) follows.
T fosef (1) 7 & Forseef (11 Wt R

Correct Answer: Both conclusion follow.

1 &t e Wt B

Candidate Answer: Only conclusion (I) follows.

el ey (1) 98l

QID : 24 - In a certain code language, "MULTI" is written as "NTKSH". How is "METER" written in that code language?

o R $e wiw d, "MULTI" &)




Options:

1) NDSDQ
2) NDSDR
3) NESEQ
4) NDSER

Correct Answer: NDSDQ
Candidate Answer: NDSDQ

QID : 25 - In a certain code language, "BOOK" is written as "86" and "READ" is written as "56". How is "GOOD" written in that code language?

% faRiy Fis YW §, "BOOK" %) "86" TUT "READ" 1 "56" foral Il &1 39 HIS HINT & "GOOD" & {3 UPR ferar siamm?
Options:

1) 43

2) 82

3)88

4)68

Correct Answer: 82

Candidate Answer: 82

QID : 26 - What is the unit digit of 178 x 593 + 157?

178 x 593 + 157%337!‘5“&'@@%?
Options:

1H1

2)2

3)3

47

Correct Answer: 1

Candidate Answer: 1

QID : 27 - What is the value of (3.7)2 - (1.7)%?

(3.7)% = (1.7)2 BT HF T 8?2
Options:

1)5.4

2) 10.8

3)7.2

4)9.6
Correct Answer: 10.8
Candidate Answer: 10.8

QID : 28 - What is the value of 3! + 31 + 32 + 327

31 4+ 371 4 32 4 32 BT HM T 8?
Options:

1) 112/9

2) 16/3

3) 4/3

4) 109/9
Correct Answer: 112/9
Candidate Answer: 112/9

QID : 29 - A number when divided by 16 leaves remainder 8. What is the remainder when the same number is divided by 8?

TS T P o 16 F AU fear omar 8, O Quthd 8 <ra1 81 ofF I8 G211 B 8 § i frar o, o S @ geme




Options:
1)0

2)2
3)6
4)4

Correct Answer: 0
Candidate Answer: 0

QID : 30 - Which of the given value is completely divisible by 12?

&3 T o & § B 91 12 § guiay: faunfe g2
Options:
1) 3470

2) 7236
3) 1426

4) 2427
Correct Answer: 7236
Candidate Answer: 7236

QID : 31 - Which of the following is not a perfect square?

Pt 3 8 P g g o 78 32
Options:

1) 1024

2) 1089

3) 676

4) 749
Correct Answer: 749
Candidate Answer: 749

QID: 32-X, Y and Z can complete a work in 15, 45 and 90 days respectively. In how many days X, Y and Z together can complete the same work?

X, Y QU1 Z fooht ST 1 HHRT: 15, 45 T 90 forf & T 9= T%dl 51 X, Y qU7 Z e 39 SRt &t fpae Al § 00 3 Iavdt 52

Options:
1) 12

2)11
3)9

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 33 - U, Vand W together can complete a work in 15 days. U alone can complete the work in 60 days. In how many days V and W together can complete the
same work?

U, vt w i forddt e Y 15 ot & 1 R a1 U 3idpen 60 Ft B il O R pel §1 V 7T W i 39 a1 ol feban Tt F qR1 % Wbl 82
Options:

1) 10

2)20

3) 14

4)12

Correct Answer: 20

Candidate Answer: 20

QID : 34 - If the diagonal of a square is 10 cm, then what is the area (in cm2) of the square?

MWt = A=t i S S



Options:
1) 50v2

2) 50
3) 25v2

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 35 - Marked price of an article is 30% more than its cost price. If 30% discount is given, then what will be the loss percentage?

TH I BT Sifthd T ITF 3T I I 30% &I g1 TG 30% PI Fe &t 9t &, 0 g1 Ul o1 gime
Options:
1)0

2)9
3)6

4)8
Correct Answer: 9
Candidate Answer: 9

QID : 36 - After giving a discount of 40% on an article, shopkeeper gains 25%. Marked price is how much percent more than the cost price?

TP TG TR 40% D Ze & & a6 1, GHMER B 25% BT AT Tl o1 Sifvdd Yo 3 T3 T fovaet wio=ra i 82
Options:

1) 65

2)87.5

3) 112.5

4) 108.33

Correct Answer: 108.33
Candidate Answer: 108.33

QID : 37 - 200 is divided into two parts in such a way that the sixth part of first and the half part of second are in the ratio 1 : 1 what will be the value of second
part?

200 @1 &1 Y & 50 R fauiore favar 7 8 fo5 ugdl &1 SoT o qm gar &1 ot favar 1 : 1 % Surd | 81 G HIT &1 A & §Rm?
Options:
1) 150

2) 125
3)75

4) 50
Correct Answer: 50
Candidate Answer: 50

QID : 38 - Two rice of prices 60 Rs/kg and 80 Rs/kg are mixed in the ratio of 3 : 2. What will be the price (in Rs/kg) of mixture?

60 /f33 qUT 80 B/fHUT 1A ATel TIGE B 3 < 2 F SIuTd & fHreman S 81 fAsyor & iva 3/ 7) @ gefle
Options:

1) 68

2) 72

3) 65

4) 74
Correct Answer: 68
Candidate Answer: 68

QID : 39 - Average of 7 consecutive numbers is A. If 2 numbers which are before these 7 numbers are also taken, then what will be the new average?

7 HHNTG YgTat o1 S A 1 e ]




Options:

1)A-1

2)A-0.5

3)A+15

4)A

Correct Answer: A-1
Candidate Answer: A-1

QID : 40 - An article is purchased for Rs 4200 and sold for Rs 4830. What is the profit percetnage?

TP T BT T 4200 & TRIST 9 € T4 T 4830 T =1 ST B 1 @1 Ufer=Iar o 92
Options:
1) 12

2) 10
3)15

4) 18
Correct Answer: 15
Candidate Answer: 15

QID : 41 - An article is sold for Rs 4800 at a loss of 20%. What is the cost price (in Rs) of the article?

T I B 20% B I TR T 4800 & T STl B 1 I BT 4 Hedl (3 H) T 82
Options:

1) 5500

2) 6000

3) 7200

4) 5800
Correct Answer: 6000
Candidate Answer: 6000

QID : 42 - What is the value of [(25% of 240) + (6% of 1200)]/(4% of 400)?

[(240 BT 25%) + (1200 T 6%)1/(400 T 4%) T A &7 §?
Options:
1) 6.25

2)7.75
3)8.25

4) 8.75
Correct Answer: 8.25
Candidate Answer: 8.25

QID : 43 - What is the value of [(11% of 1200) + (10% of 1400)]/(2% of 250)?

[(1200 FT 11%) + (1400 FT 10%)]/(250 BT 2%) BT AH I §?
Options:
1) 48.2

2) 54.4
3)72.8

4) 38.4
Correct Answer: 54.4
Candidate Answer: 54.4

QID : 44 - A train is moving at a speed of 56 km/hr covers a certain distance in 8 hours. If the same distance is to be covered in 7 hours, then what will be the
speed (in km/hr) of the train?

U Yot 56 ot sder Y iy & Y / ey (fp i reier B @ Ao



Options:

1) 64

2) 54

3) 48

4) 63

Correct Answer: 64
Candidate Answer: 64

QID : 45 - Speed of a boat is 6 km/hr in still water and the speed of the stream is 1 km/hr. If the boat takes 12 hours to go to a place and come back, then what is
the distance (in km) of the place?

i ot & 19 Bt 7 6 6. /er § aun yRT &1 1 1 . /eier 81 afg w19 12 9 # 5w g8 9% Sre) I off St 7, o g (T, ) e 82

Options:
1)21

2) 28
3)35

4) 70
Correct Answer: 35
Candidate Answer: 70

QID : 46 - Rs 3500 are invested for 3 years in a scheme of simple interest at a rate of 16% per annum. What will be the amount (in Rs) obtained after 3 years?

3500 T BI 3 9 % forg RN ST aTelt U Ae & 16% Tfd 99 &t el o) A 3w fvar T 81 3 o &g foram fiyged (3 ) ur g

Options:
1) 5050
2) 7200
3) 5180
4) 4500

Correct Answer: 5180
Candidate Answer: 5180

QID:47-
The bar chart given below shows the number of flights
from by Air [ndia in 6 consecutive years.

& 2w 9w gus R A 6 a9 & mw maw siEam g
IEM$ TS SEET T TEAT B AT T

21000 -
18000 -

E 15000 1 13200
. 11900 —

18400
15500 16200

9000 {8290

Number of flights

Y1 Y2 Y3 Y4 Y5 Y6
Year/a¥

What is average number of flights per year?

uf af Sl Y el o @ g2
(BTG T e P s e i e B o)




Options:
1) 14200
2) 13900
3) 13500
4) 14400

Correct Answer: 13900
Candidate Answer: 13900

QID: 48 -
The bar chart given below shows the number of flights
from by Air [ndia in 8 consecutive years.

@ fam ow gue R A 6 a¥ & for maw sfEam g
I=E O ST T WEN T SR A d

21000 -
18000 -

15000 A 13200
11900 —

18400

15500 16200

| 8200

ISl BT e
S
3

Number of flights

Y1 Y2 Y3 ¥4 Y5 Y6
Year /9§

As compared to previous year, which year shows the maximum increase in number of flights?

Td a¥ 1 gor 1, 5w 9 ¥ ST 31w # sif¥ead 9 53 87
Options:
1) Y4

2)Y2

3) Y6

4) I\]one of the§e

SR IR

Correct Answer: Y2
Candidate Answer: Y2




QID: 49 -
The bar chart given below shows the number of flights
from by Air [ndia in 6 consecutive years.

Frr 2w 9w guvs R A 6 a9 & o maw sfEam amn
IEE I5 IEET Al WEAT B AT IR §

21000 -

15000 - 13200
11900 —

18400

| 8200

IF3EN 1 e
(o]
o
o
o

Number of flights

Y1 Y2 Y3 Y4 Y5 Y6
Year /9§

Number flights in Y6 are how much percent more than number of flights in Y1?

Y6 P IS B TS Y1 B JSHI 3! T ¥ e wfara siftie g2

Options:
1) 124.4

2)126.8
3) 118.2

4)114.3
Correct Answer: 124.4
Candidate Answer: 124.4




QID: 50 -
The bar chart given below shows the number of flights
from by Air [ndia in 6 consecutive years.

@ 2w o gus R A 6 a¥ & T maw sfEwm am
IE1E I T A TEAT FY ST T E

21000 -

18400
18000 ]

15500 16200

13200
11900 —

&=
— —
N o
o O
o O
S O

1 L

9000 - 8209

Number of flights

o

Y1 Y2 Y3 Y4 Y5 Y6
Year /9§

Number of flights of Y2 are what percent of number of flights of Y5?

Y2 P ISHI B I, Y5 ISHI BT e BT fan ufa=rd 8?2
Options:
1) 69.26
2) 71.66
3) 67.18

4) 73.45
Correct Answer: 73.45
Candidate Answer: 73.45

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

To bring these to you (1)/ Wherever you are (2)/ however you have time. (3)/ No Error (4)/
Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

We will continue to (1)/ strive in dark (2)/ but we will no driven out. (3)/ No Error (4)/

Options:
1)1

2)2

3)3

4)4
Correct Answer: 3 (R T e s o i e N o))/




Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

She cannot deprive him his rights.

Options:
1) for

2) form
3) of

4) with
Correct Answer: of
Candidate Answer: of

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

My uncle, Mr. Lalit Singh comes home at the of the month.

Options:

1) end

2) gone

3) bring

4) returning

Correct Answer: end

Candidate Answer: end

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Awe

Options:
1) Expectation

2) Admiration
3) Familiarity

4) Calmness
Correct Answer: Admiration
Candidate Answer: Admiration

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rejuvenate

Options:
1) Update

2) Destroy
3) Rain

4) Exhaust
Correct Answer: Update
Candidate Answer: Update

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Disperse

Options:
1) Eject

2) Arrange
3) Gather

4) Collect




Correct Answer: Eject
Candidate Answer: Eject

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Stationary

Options:
1) Immobile

2) permanent
3) Stable

4) Unsteady
Correct Answer: Unsteady
Candidate Answer: Unsteady

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Progressive

Options:

1) Advanced

2) Continuous

3) Conservative

4) Dynamic

Correct Answer: Conservative
Candidate Answer: Conservative

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Augment

Options:

1) Develop
2) Enhance
3) Degrade
4) Increase

Correct Answer: Degrade
Candidate Answer: Degrade

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Part and parcel

Options:
1) Arguments for and against

2) Send the message
3) An essential part

4) Distribute and give away
Correct Answer: An essential part
Candidate Answer: Arguments for and against

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A rainy day

Options:
1) Time of amusement

2) Time of difficulty
3) Day for adventure

4) Heavy downpour of water
Correct Answer: Time of difficulty
Candidate Answer: Heavy downpour of water




QID : 63 - Improve the bracketed part of the sentence.

(Being a cold day), we cancelled our picnic.

Options:
1) It being a cold day

2) It having been a cold day
3) It been a cold day

4) Not improvement
Correct Answer: It being a cold day
Candidate Answer: It being a cold day

QID : 64 - Improve the bracketed part of the sentence.

My daughter has a habit of (eating home-cooked food).

Options:
1) picking home-cooked food

2) bulging home-cooked food
3) hoggering home-cooked food

4) Not improvement
Correct Answer: Not improvement
Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Government by person of highest social order.

Options:
1) Autocracy

2) Aristocracy
3) Plutocracy

4) Democracy
Correct Answer: Aristocracy
Candidate Answer: Aristocracy

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Government by a king/queen.

Options:
1) Dictatorship

2) Monarchy
3) Oligarchy

4) Theocracy
Correct Answer: Monarchy
Candidate Answer: Monarchy

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Laughtro

2) Laughtur

3) Laughter

4) Laufter
Correct Answer: Laughter
Candidate Answer: Laughter




QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Maximom

2) Maximum
3) Masimum

4) Macximum
Correct Answer: Maximum
Candidate Answer: Maximum

QID : 69 - Rearrange the parts of the sentence in correct order.

The opinion

P: opinion of many
Q: great must be the
R: that makes a book

Options:

1) RQP

2) QPR

3) PQR

4) QRP

Correct Answer: RQP
Candidate Answer: RQP

QID : 70 - Rearrange the parts of the sentence in correct order.

We are

P: as we are alive
Q: always under the
R: stress as long

Options:

1) RQP

2) QRP

3) PRQ

4) RPQ

Correct Answer: QRP
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

We have to face degree

Options:
1) heavy

2) many
3) low

4) high
Correct Answer: high
Candidate Answer: low




QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , Night becomes long and day becomes

short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

during the winter months.

Options:
1) peak

2) speak
3) sneak

4) tweak
Correct Answer: peak
Candidate Answer: peak

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

In the winter ;

Options:
1) climate

2) season
3) reason

4) plain
Correct Answer: season
Candidate Answer: season

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , night becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

clear however sometimes it remains all through

Options:
1) clear

2) blue
3) Unclear

4) same
Correct Answer: Unclear
Candidate Answer: Unclear

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , night becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

season and makes condition




Options:
1) worse

2) better
3) abnormal

4) normal
Correct Answer: worse
Candidate Answer: worse

QID : 76 - How many 'factors of production' are there?

IS P HRP' e g3 82
Options:

1) One

TH

2) Four

IR

3) Six

9

4) Eight

36

Correct Answer: Four
IR

Candidate Answer: Six
G

QID : 77 - Agriculture comes under which sector of economic activity?

P T o TR & & & siarfd ot 82
Options:

1) Secondary sector

EGiRcPPCy

2) Primary sector
T &
3) Tertiary sector

4) Quaternary sector

Correct Answer: Primary sector
TS g

Candidate Answer: Primary sector

TS &

QID: 78 - Indiais a .

UYRA TP gl
Options:

1) Autocracy
Uehdd

2) Monarchy

RISGE]

3) Democracy

GIEZeES

4) Aristocracy

Correct Answer: Democracy

Candidate Answer: Democracy

QID : 79 - Who is the Chairman of Rajya Sabha?
T GHT DT GHUTY B BT 872




Options:
1) Speaker
Wi

2) Vice President of India

YRA & IU-

3) Prime Minister of India

YR P Yo

4) None of these

THAI PR T

Correct Answer: Vice President of India
HRA & IU-AFafel

Candidate Answer: Vice President of India
HRA P FU-Paf

QID : 80 - Which among the following is known as the earliest period in history?

e & oIRfie P o FafaRed & 3§ o ST o 82
Options:
1) Palaeolithic
DI
2) Mesolithic
TN g
3) Microlith

NERISIN

4) Neolithic

ECELINIL)

Correct Answer: Palaeolithic
QRTYTYTOT el

Candidate Answer: Palaeolithic

YRIYTYTOT hTel
QID : 81 - During 1850's, Britain came to be known as .

1850 & &RM, foeA g T
Options:
1) mini continent

2) workshop of the world

T BT SREHT

3) labour king

TSIGR] T ST

4) factory owner

T &1 Hiferd

Correct Answer: workshop of the world
i1 ST HREHT

Candidate Answer: workshop of the world
T BT HREAT

QID : 82 - The sun, the moon and all those objects shining in the night sky are called as .

T, < aur § g aRgt o I F THT R H IHedl g, dean ol
Options:

1) Star

GIRl

2) Satellite

LR

3) Celestial Bodies

Ty fis

4) Milky Way

S{TeRTRT T

Correct Answer: Celestial Bodies

Candidate Answer: Celestial Bodies

QID : 83 - Which imaginary line running on the globe divides it into two equal parts?
DA f BIeae @ TE BT &1 SRIER U F Fiedt g2




Options:
1) Tropic of Cancer
EReG|

2) Tropic of Capricorn
HHR @l

3) Equator
fargare

4) None of these
IR H I HIS el

Correct Answer: Equator

Candidate Answer: Equator

QID : 84 - Which type of plants have their branches in the upper part of the stem, much above the ground?

fra YR & Wl F 3t Yy I e S8 W a & SHud um @ Fead 82
Options:
1) Shrubs

2) Trees

g4

3) Herbs

g

4) None of the above
I § q Pl o1
Correct Answer: Trees
q&

Candidate Answer: Herbs
a2

QID : 85 - Plants with green and tender stems are called as o

W T B o 9 Tl HEA gl
Options:

1) Herbs

pica

2) Shrubs

3) Trees

94

4) None of the above
IRIed B J B1E TE¥
Correct Answer: Herbs
RMH

Candidate Answer: Shrubs

QID : 86 - The covering of lungs is called as

PHS! & AR B HEI S B
Options:
1) Pericardium

2) Pleural membrane

PUpY fyredd!

3) Perichondrium
3

4) Peritoneum

Correct Answer: Pleural membrane

TUGY el
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Unit of acceleration is .

TR BT HED gl




Options:
1) m/s
Ll

2)' s2/m

Correct Answer: m/s2
H./AFHs2
Candidate Answer: m/s?

. Apue?

QID : 88 - The distance travelled by a freely falling body is proportional to which among the following?

TF W T F IR gu five grr aa &t 12 & Fufafad & & frads aargmias gidt 82
Options:
1) The mass of the body
P GoIHH
2) The square of the acceleration due to gravity
Tod & HRUT @R BT
3) The square of the time of fall
A & 99 &1 i
4) The time of fall
IR &1 9wy

Correct Answer: The square of the time of fall

IR & e &1 3t

Candidate Answer: The square of the acceleration due to gravity
T & HRUT @R[ BT

QID : 89 - Which of the following is NOT an input device?

I.Keyboard
II.Mouse
III.Monitor

Fafafed & 3 o o T $Ye f$ar39 el 82

| Bl

II. 9139

IIL AR
Options:

1) Both I and II
197 11 gt

2) Only III

Fad III

3) Both II and III
11 9T 111 T

4) Only IT

Paq I

Correct Answer: Only III
$ad III

Candidate Answer: Only III
S 111

QID : 90 - Molecules in Solids .

B Tt 7 S [
Options:

1) are free to move about

Tt & fore <o 91 €

2) cannot move

T 6T R Fohdl

3) interchange positions frequently
TR R SRTg ST Sreall

4) are spherical in shape

PR H

Correct Answer: cannot move

T e R Taa

Candidate Answer: cannot move




QID : 91 - Which of the following is not an element?

foffea § 4 $9 W aa e 82
Options:
1) Sodium

2) Tin
3) Water
Eicil

4) Carbon
EACE|
Correct Answer: Water

Candidate Answer: Water

QID : 92 - The upper limit of the layer where all the space between particles of soil and gaps between rocks are filled with water is called what?

el & Ui % o S IR P IR N W IR Tgrl & S F F S 9 T W gl TGB! SRt Fen a1 dgardt 82
Options:

1) Water cycle

d 9

2) Water table

Ioret ®R

3) Ground water

4) Aquifer
STAHR

Correct Answer: Water table
ST wR

Candidate Answer: Aquifer
SIAHR

QID : 93 - In which year Pradhan Mantti Jan Dhan Yojana was launched?

TeHA 9 ¢ AIoHT 31 YoaiTd 5 ayf 31 775 oz
Options:
1) 2013

2) 2014
3) 2015

4) 2016
Correct Answer: 2014
Candidate Answer: 2015

QID : 94 - Who among the following discovered Radium?

Fafefad o 3 feu eam i @l o1 i
Options:
1) Marie Curie

2) Alber Einstein

3) R.A. Millikan

3R, Q.

4) Pavel Schilling

uraa et

Correct Answer: Marie Curie
EREE]

Candidate Answer: Marie Curie

gl

QID : 95 - With which sport is 'wide ball' associated?

g Qa1 & Ty arge & JST gen 87




Options:
1) Cricket
fppe

2) Hockey
3) Fgotball

Pcdid
4) Table Tennis
gq e

Correct Answer: Cricket

Candidate Answer: Cricket

QID : 96 - Hindu Pilgrimage centre Sabarimala is located in which state?

forgall o1 defea wadtmren for g & R &2
Options:
1) Maharashtra

HERTY
2) Kerala
B

3) Uttar Pradesh
JR YUY
4) Madhya Pradesh
A Yo

Correct Answer: Kerala

Candidate Answer: Kerala

QID : 97 - Who won the Best FIFA Men's player award 2016?

2016 HT TIYT BT GoY RAAS! [REPR [Ha sitare
Options:
1) Cristiano Ronaldo

2) Wayne Rooney
CERST|
3) Neymar Junior

4) Fernando Torres
Correct Answer: Cristiano Ronaldo

Candidate Answer: Cristiano Ronaldo

QID : 98 - Who is the author of the book named "My Country My Life"?

"AIS del ATS AP A TKP & Agd B 82
Options:

1) Mamata Banerjee

HHATT

2) L.K. Advani

Tdl. . Sfrsart

3) Raghav Bahal

IM4d dgdl

4) Daman Singh

A Rig

Correct Answer: L.K. Advani
Td. &. Eart

Candidate Answer: L.K. Advani
Td. F. SSamt

QID : 99 - Basel Convention is an international treaty that was designed .

RIS T U SfeRRigig A g B e fovan e




Options:
1) to reduce movement of hazardous waste (except radioactive wastes) between nations.
[ RS iRy Qfgdiedl sy & Biew) @) 1fd FH HA B
2) to reduce movement of radioactive wastes only between nations
Fad o1 & o Fearef afkist 1 1l 3 H0 w4 &
3) to encourage waste disposal
Tieed 3= & forg
4) None of these
ERERCIEE )
Correct Answer: to reduce movement of hazardous waste (except radioactive wastes) between nations.
T & & GaRATS SRy (FSHie Uiy B Srg®y) $1 0 HH e B
Candidate Answer: [ NOT ANSWERED ]

QID : 100 - Which among the following neighbouring countries of India is not landlocked?

o 7 § YR o1 H 1 TSI A7 RaEE I R g e 82
Options:

1) Myanmar

AR

2) Bhutan

Y

3) Nepal

EUI

4) Afghanistan
ST

Correct Answer: Myanmar
AR

Candidate Answer: Myanmar
AR




